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N = 0 & A
20138 &= 204 EFHIIZANELEEESH EH CHe A M)
20F- 522 - ALY - AALS (S H) O AF oM HE T O] At Hps2 pa—
==k
= Al 12,749,431 12,216,697 532,734 4 .36%
= 3,498,000
o= 407,900
= 8,843,531
AL 11,544,243 12,216,697 ANB72,454 A5.50%
= 3,498,000
& 407,900
= 7,638,343
MEES 0 0 0 0.00%
SHAE A A 1,205, 188 0 1,205,188 100.00%
AL S 11,544,243 12,216,697 ANB72,454 A5.50%
= 3,498,000
== 407,900
= 7,638,343
Mot - =& 8,861,900 12,216,697 N3,354,797 AN27 . 46%
= 3,237,000
c 396,000
= 5,228,900
ot=& &2l 8,861,900 12,216,697 N3,354,797 NP7 .46%
= 3,237,000
& 396,000
= 5,228,900
St NEH & SA(SEIZAIESESLESAH) 1,829,000 4,260,000 A 2,431,000 AB7.07%
= 1,175,000
= 654,000
HOUAotE=MHe I HEX (BHIIZAILEELESAH) 1,472,000 3,615,000 A2,143,000 A 59.28%
= 1,062,000
& 182,000
= 228,000
SHE0SoHESZH (EHHIZAIEELESAH) 1,428,000 583,000 845,000 144 .94%
= 1,000,000
& 214,000
= 214,000
SIHJIZAE 2el - 2E(HHAIIZALEELS 4,132,900 3,758,697 374,203 9.96%
Al
Hol2 2,682,343 0 2,682,343 100.00%
= 261,000
=} 11,900
= 2,409,443
HIlI2 X&g 2,682,343 0 2,682,343 100.00%
= 261,000
& 11,900
= 2,409,443
HA HY(SHBIZANEEESAH) 591,163 0 591,163 100.00%
= 261,000
== 11,900
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2Ok 22 - IBAY - SRAAS (3 H) Ol &F oA HE T O Ak A HwE2 =28
o 318,263
HII2 MolAlE 2S(SBINZANESLESA) 2,091,180 2,091,180 100.00%
JIEt 1,205, 188 1,205,188 100.00%
JIE 1,205,188 1,205,188 100.00%
HE2LZH (I =E ) 1,205, 188 1,205,188 100.00%
QlARHHI(SHEIIZAEEESIH) 1,205,188 1,205,188 100.00%




